acidic workup to
produce alcohol

LiAlH4 used to
produce aldehyde
from ester and then
nucleophilic
addition of H and
protonation to form
alcohol
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B: Nuc attack / Nuc subn rxn on ester by a Grignard
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* Ketone much more reactive than starting ester so reaction continues (ester has resonance stabilisation)

Hydride Addition to Carbonyl Groups (Reduction)
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B: Reduction of an ester (or carboxylic acid or amide) (use
Lithium aluminium hydride, LiAIH4)
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alkoxide aldehyde is consumed immediately (more reactive than ester)

lecture 1- carbonyls and tautomerisation



